Chapter 24 Financial Ratios
Answer 1

(a)
The definition of debt-to-equity ratio is debt / equity. This is the relative proportion of debt and equity. It is frequently used in finance to indicate the level of debt in financial statement analysis.
(b)

The descending order of the stock price based on the MM Model is S > R > P > Q. This is because the higher the debt level, the higher the interest expense, the better the tax advantage and the higher the stock price.
(c)

It states that the firm value increases as debt level increases up to a point. This is due to the tax advantage as higher debt level leads to higher interest expenses and the better tax shield, then the firm value drops due to the increase in bankruptcy costs.

(d)
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The higher the debt level, the higher the firm value due to the better tax shield. After that, the firm value decreases due to the increase in bankruptcy costs.

(e)

When new shares are issued, it may mean the debt level or the stock price are too high. Also, the floating cost for stock is higher than that for debt.

(f)

The majority of bank assets are their liability due to the deposit made by their customers. In terms of debt-to-equity ratio, it is around 500% or above.
Answer 2
(a)

ROE = Net profit / Equity

This can be decomposed into:

	ROE =
	Net profit
	×
	Sales revenue
	×
	Total assets

	
	Sales revenue
	
	Total assets
	
	Total Equity


(b)

ROE is an important ratio from the shareholders’ perspective. To improve ROE, we may either increase the profit margin or asset turnover or the equity multiplier. The higher the equity multiplier, the higher the ROE. A high equity multiplier means higher asset per dollar of equity and higher borrowing. For every $1 contributed by the shareholders, the higher the borrowing, the higher the asset value on the left hand side of the accounting equation. Therefore, some leverage would improve ROE.

Answer 3
(a)

(i)
When a company issues shares, the existing shareholding is diluted.

(ii)
When a company issues bonds, it may lead to higher interest payments and higher possibility of bankruptcy risk.

(b) and (c)
[image: image2.emf]
(d)
The EPS is higher under Plan 1. It is suggested to have the additional financing by borrowing rather than by issuing shares. In both cases, the EPS is improved though.
(e)

Interest expense may affect the dividend paid to shareholders and financial distress. If interest expense is high, the dividend payment may be reduced. Using the MM model, a high debt level, hence high interest expense, may lead to financial distress and bankruptcy.
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